TP

1O bR

ZEH 2R -AR 5 f#FactorizationiEE

th

— . AR 72 T 5| =R, Factorize the following expressions.

1. x*—=25

2. 36V

3 49-4k°

4. 2h* -18k°
5. x* +12x+35
6. 3P +5t-2
7. a’ —6ab+9b

g l+dy+4y’

1. poq =1

2. a’ +4a+4-9p°

3 25-(16x-y)’

4 (@+2b) ~5a—10b+6

5 h'—k>+6h+9

6. 4—4a’ +4ab-b’

7 Th —14hk +7k* —14h+14k

g 3x% +x+6xy -9y +3y
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Z . EARX 2 fE T 5| R, Factorize the following expressions.
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= . SER T &7, Complete the following questions.

1. (a) KRR (y+IO)(y+12)+1

Factorize ¥ +10)(y+12)+1 .

(b) FIF(a) BOAESR, SCHM T, R (X D)+ H0e+5)+1

Using the result of (a), or otherwise, factorize (¥ *+2(x+3)(x+Hx+3)+1

2. (a) ARiR @’ +ab+ab®+b°

Factorize @ +a’b+ab’+b"
(b) FIIFH(a) BORE S, B 77k, R R @ +8°

Using the result of (a), or otherwise, factorize a’+b’
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